retroceso

¢ = (VAV =SIA V =SIMV)A(VA V =SIMV v DA)A(~DA V =S1A V ~S1MV)A
(VA V DA V =S2MV)A(=DA V =S1A V =S2A V =VA)A(CS1V =SIMV)A(SS1 V —SIMV)A
(CS2V =S2MV)A(=DA V =S1A vV =S2MV)A(S2MV V SIMV)A(S1A V =SIMV VvV DA)A
(SlA Vv -VA vV ﬁSH\/IV)/\(ﬁDA Vv -VA vV ﬁSH\/IV)/\(SSZ \Y ﬁSQl\’IV)/\(ﬁVA V S2A vV ﬁSQl\'{V)/\
(DA V S2A vV =S2MV) A (VA V =S2A VvV =S2MV) A (-DA vV =VA vV =S2MV)

literal pura SS1

¢ = (VA VvV =S1A vV ﬁSH\/IV)/\(VA V =S1IMV vV DA)/\(ﬁDA VvV —=S1A vV ﬁSH\IV)/\
(VA VDA V =S2MV)A(=DA V =S1A V =S2A V =VA)A(CS1 V =SIMV)A(SS1 V =SIMV)A
(CS2V =S2MV)A(=DA V =S1A vV =S2MV)A(S2MV V SIMV)A(SIA V =SIMV VvV DA)A
(STA V =VA V =SIMV)A(=DA V =VA V =SIMV)A(SS2 VV =S2MV)A(=VA V S2A V =S2MV)A
(DA V S2A vV =S2MV) A (VA V =S2A vV =S2MV) A (=DA V =VA vV =S2MV)

‘ ¢(SS1)

¢ = (VA V =S1A V =SIMV)A(VA V =SIMV V DA)A(-DA V =S1A V =SIMV)A
(VA VDA V =S2MV)A(=DA V =S1A V =S2A V ~VA)A(CS1 V =SIMV)A(CS2 V ~S2MV)A
(=DA V =S1A V =S2MV)A(S2MV V SIMV)A(S1A V =SIMV vV DA)A(S1A V ~VA Vv =SIMV)A
(=DA V =VA V =SIMV)A(SS2 V =S2MV)A(=VA V S2A V =S2MV)A(DA V S2A V =S2MV)A
(VA V =S2A Vv =S2MV) A (=DA Vv =VA V =S2MV)

literal pura CS1

¢ = (VA V=S1A V —SIMV)A(VA V =SIMV V DA)A(-DA V =S1A V =STMV)A
(VA VDA V =S2MV)A(=DA V =S1A V ~82A V =VA)A(C'ST V ~SIMV)A(CS2 V ~S2MV)A
(DA V =S1A V =S2MV)A(S2MV V SIMV)A(SIA V =SIMV v DA)A(SIA V ~VA V —=SIMV)A
(DA V VA V =SIMV)A(SS2 V =S2MV)A(=VA V S2A v =S2MV)A (DA V S2A V =S2MV)A
(VA V =S2A V ~S2MV) A (=DA V VA V =S2MV)

¢(CS1)

¢ = (VA V =S1A V ~SIMV)A(VA V =SIMV V DA)A(-DA V —S1A V =SIMV)A
(VA VDA V —S2MV)A(-DA V —S1A V =S2A V =VA)A(CS2 V =S2MV)A(-DA V —S1A V ~S2MV)A
(S2MV V SIMV)A(SIA V ~SIMV v DA)A(SIA V VA V =SIMV)A(=DA V =VA V =SIMV)A
(SS2 V —=S2MV)A(=VA v S2A V ~S2MV)A(DA V S2A V ~S2MV)A(VA V =S2A v —S2MV)A
(=DA V ~VA V =S2MV)

literal pura SS2

é = (VA V =S1A vV -SIMV)A(VA V =SIMV V DA)A(=DA V =S1A Vv =SIMV)A
(VA VDA V =S2MV)A(=DA V =S1A V =S2A V =VA)A(CS2 V ~S2MV)A(-DA V =S1A V =S2MV)A
(S2MV V SIMV)A(S1A V =SIMV V DA)A(SIA V =VA V =SIMV)A(=DA V =VA V =SIMV)A
(SS2 V =S2MV)A(=VA V S2A vV ~S2MV)A(DA V S2A V =S2MV)A(VA V =S2A V —S2MV)A
(DA V —-VA VvV -S2MV)

‘ $(852)

¢ = (VA V =S1A V =SIMV)A(VA V =SIMV V DA)A(=DA V —S1A vV —=SIMV)A
(VA V DA V =S2MV)A(=DA V =S1A V =S2A V ~VA)A(CS2 V ~S2MV)A(=DA V ~S1A V ~S2MV)A
(S2MV V SIMV)A(SIA V ~SIMV V DA)A(SIA V VA V =SIMV)A(=DA V =VA V =SIMV)A
(VA V S2A V ~S2MV)A(DA V S2A v —S2MV)A(VA V —S2A V =S2MV)A(~DA V =VA v ~S2MV)

literal pura CS2

¢ = (VAV =S1A V ~SIMV)A(VA V =SIMV V DA)A(—DA V =S1A V ~SIMV)A
(VA VDA V =S2MV)A(=DA V =S1A V =S2A V =VA)A(CS2 V =S2MV)A(=DA V =S1A V =S2MV)A
(S2MV V SIMV)A(S1A V =SIMV V DA)A(S1A V =VA V =SIMV)A(=DA V =VA vV =S1IMV)A
(ﬁVA V S2A vV ﬁSQNIV)/\(DA V S2A vV ﬁSQNIV)/\(VA VvV —S2A vV ﬁS?l\/IV)/\(ﬁDA VvV -VA vV ﬁS?l\/IV)

‘ $(CS2)

¢ = (VAV =S1A V =SIMV)A(VA V =SIMV V DA)A(=DA V =S1A V =SIMV)A
(VA V DA V =S2MV)A(=DA V =S1A V =S2A V =VA)A(=DA V =S1A V =S2MV)A
(S2MV v SIMV)A(SIA V ~SIMV vV DA)A(SIA V =VA V =SIMV)A(-DA V =VA V =SIMV)A
(=VA v S2A v —S2MV)A(DA V S2A v ~S2MV)A(VA v =S2A v =S2MV)A(=DA V =VA v —=S2MV)

variable S1A

¢ = (VAV =S1A V ~SIMV)A(VA V =SIMV V DA)A(-DA V =S1A V ~SIMV)A
(VA VDA V =S2MV)A(=DA V =S1A V =S2A V =VA)A(=DA V =S1A vV =S2MV)A
(S2MV V SIMV)A(S1A V =SIMV V DA)A(STIA V =VA V =SIMV)A(=DA V =VA vV =SIMV)A
(ﬁVA VvV S2A vV ﬁSQl\/[V)/\(DA V S2A vV ﬁSQl\'lV)/\(VA VvV =S2A vV ﬁSQNIV)/\(ﬁDA VvV -VAV ﬁSQl\{V)

‘ #(S1A)

¢ = (DA V =SIMV)A(S2MV v SIMV)A(DA V S2A V =S2MV)A(=DA V —VA V =S2MV)A
(VA VDA V =S2MV)A(=DA V =VA V =S2A)A(~DA V =S2MV)A(=VA V S2A V =S2MV)A
(VA V =SIMV V DA)A(=DA V =VA V =SIMV)A(VA V =S2A V =S2MV)A(VA V =S1MV)

literal DA

¢ = (=DA V =STMV)A(S2MV V SIMV)A(DA V S2A V =S2MV)A(=DA V =VA V =S2MV)A
(VA VDA V =S2MV)A(=DA V =VA V =S2A)A(~DA V =S2MV)A(=VA V S2A V =S2MV)A
(VA V =SIMV V DA)A(=DA V =VA V =SIMV)A(VA V =S2A V =S2MV)A(VA V =SIMV)

$(DA)

¢ = (=SIMV) A (VA V =S2MV) A (=VA V =SIMV) A (S2MV V SIMV) A
(—S2MV)A(=VA V S2A V ~S2MV)A(VA V —=SIMV)A(=VA V =S2A)A(VA V =S2A v —S2MV)

clusula unitaria (=SIMV)

¢ = (<SIMV) A (=VA V =S2MV) A (=VA V ~SIMV) A (S2MV V SIMV) A
(=S2MV)A(=VA V $2A V =S2MV)A(VA V =SIMV)A(=VA V =S2A)A(VA V ~S2A V —=S2MV)

B(—SIMV)

¢ = (VA V—S2MV) A (S2MV) A (=S2MV) A (=VA V S2A v =S2MV) A
(=VA v =S2A) A (VA V ~S2A v ~S2MV)

clusula unitaria (—S2MV)

¢ = (AVAV —=S2MV) A (S2MV) A (=S2MV) A (=VA V S2A v —S2MV) A
(=VA V =S2A) A (VA V —S2A v ~S2MV)

B(—S2MV)

6= () A (~VAV ~S2A)

cldusula vacia

¢ = () A(=VAV-S2A)

—_—

literal =DA

¢ = (DA V =SIMV)A(S2MV V SIMV)A(DA V S2A V =S2MV)A(=DA V =VA V =S2MV)A

(VA V DA V =S2MV)A(=DA V =VA V =S2A)A(=DA V =S2MV)A(=VA V S2A V =S2MV)A
(VA V =SIMV V DA)A(-DA V =VA V =SIMV)A(VA V =S2A V =S2MV)A(VA V =S1MV)

¢(=DA)

¢ = (S2MV V SIMV)A(S2A V —S2MV)A(VA V =S2MV)A(=VA V S2A v ~S2MV)A
(VA V =SIMV) A (VA V =S2A V =S2MV) A (VA v —SIMV)

literal VA

¢ = (S2MV V SIMV)A(S2A V —S2MV)A(VA V —S2MV)A(=VA V S2A V —=S2MV)A
(VA V =SIMV) A (VA V =S2A V =S2MV) A (VA V ~S1IMV)

‘ H(VA)
¢ = (S2MV Vv SIMV) A (S2A vV =S2MV) A (S2A vV =S2MV)
literal pura SIMV

¢ = (S2MV v SIMV) A (S2A V =S2MV) A (S2A V —S2MV)
B(SIMV)

¢ = (S2A V ~S2MV) A (S2A V ~S2MV)

literal pura S2A

¢ = (S2A v —S2MV) A (S2A V =S2MV)

$(S24)

¢ = expresion vacia
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